o
[N

ko) F
8
~0.15F
S o
© 0.1
\" r

......................

...................

......

......

...................

o P | P PR P
e E EEE EEEE L R O

TP n (PCA to beamline)

< o cot(y) >

e
[
l

o
[N

o
i

......................

......................

..............

..............

TP n (PCA to beamline)

—=— DQM_mkFit5_TTold-lowpt
—e— DQM_mKFit_TT_retrain-lowpt
—— DQM_mkFit_TT_NEWdefault_specPLess3-lowpt

20

15

10

< 00, > (M)

-10

-15

=20

Ratio
N

0.95

<opyp, > ()

Ratio

0 1 2

3

TP n (PCA to beamline)

A S | o - ................
A R N |

| evenen Aol W
3 -2 -1

0 1 2

3

TP n (PCA to beamline)

<od,> (um)

Ratio

..............

...............

iy

0.95

1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


